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101 | RERT=\ 67 67 Kg frJE 4,104 432
102 |FHEI-) 1,802 1,802 Kg B+ 2 2,927 86
111 [ ED 148 34 114 Kg [ERE 918 324 m . Koy 1,469 108
113 | REROBH 67 2 65 Kg | 1,404 (e 3,564 972
114 |5 -H 171 171 Kg HEE[E] 2,484 540
117 [i3% 2 2 Kg Lo 3,622

121 [7bixE 476 121 355 Kg |&fE 1,080 109|7&E S 1,945 540
134 |[7=Z 646 322 324 Kg [E=k 1,944 1,200 % 2,376 1,080
137 |[mHES< 360 225 135 Kg [|EIR 4,104 2,484 E-Ff 4,104 2,160
138  |IR7eED 67 67 Kg () 1,728 1,080
140 [5iC 5 5 Kg E[RES 45,000 32,400
147 |HEz W 96 96 Kg T - Rl 6,500 4,000
158 [N AED 551 142 409 Kg [ERE 864 540 2,808 324
201 |\l 627 627] Kg ] 400 54
203 |/NHC 32 32 Kg T 351

205 [ALHL 140 140 Kg KRy 486

206 |1 623 623 Kg HEE[E] 936 324
207 |&AE 4 4 Kg Aty 1,080

208 [»oB 117 117 Kg =230 1,296 216
AVIRES BN 664 664 Kg Bl F | 2,419 950
251 [KAXSA 353 72 281 Kg [E=k 2,592 Bl 5,994 2,981
252 |WAEESA 3 3 Kg FE T 2,862

254 [EDIEFESTAH 378 378 Kg FE T 2,452 1,220
319 [=b5 96 96 Kg R 1,728 611
332 | EA BPE 383 383 Kg E|RES 1,674 1,404
351 [AEH 18 8 10 Kg [E=k 7,344 3,240 % E 4,212

354 [1ZEH 58 5 53 Kg [T 1,296 TIE 1,404 756
355 |V 100 100 Kg HEA « 20 1,188 432
356 [LUA 70 30 40 Kg |MF 54 FSEL 1,296 810
357 |RHE 58 58 Kg HEE[E] 1,728 900
358 [KH 15 15 Kg R 2,160 1,404
362 [7x 345 10 335 Kg |IRE 1,620 135 e 3,024 540
402 |H7pE 10 10 Kg R 4,320 3,348
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507 (o 100 100 Ks j;; 850 780
512 | oA 30 30) Ke =5 2,040 1,080
523 | A0 75 7] Ke = 1,312 1,110
524 [mieEz O 115 115]  Kg T= 950 702
558 |7fA 96 96 Eg =5 2,350 1,090
560 |iRi-— 228 228 g T 7,560 4,752
566 [P0 uRAIc 31 31| Ke T 850
576 |[oi=) 50 o0 Ke T 13 636
581 [T vy 4,000 4,000) Kg
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01 [HUOA 423 423]  Kg s 1,404
705_[7-5<0 > o] Ke =7 132
709 _|WDUAT 6 g Ei S 675
710 D20t 10 936
51 B 145 107 38 Ke [Ik 610 583 ﬁiﬁ 724
754 |BRSAE 10 10] Ke S 970 621
755 |BHT 53 53 Eg R 1,518
61 [BUDAEE 12 12| Ke A 1,152 1,080
767 372500 24 21) Ke E5 00 2,376 540
801 [Hdr=17 100 100] Kg e 1,242 842
802 s 200 200) Kg TF 821 454
805 |Haxi 1,031 1,031 Keg T 555
807 _|BBoD T 6 0] Ke T 1,911
810 DIk T 30 0] Ke




